Week 12
Friday 12thJune 2020
Year 6- Problem solving
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Inverse Operations

Inverse Operations

7a. The table shows the sales figures for
two different sweets sol
the weekend. Use addition and
sublraction to find the missing values i
pence.

in one shop over

7b. The table shows the students the sales.
figures at two department stores in fhe.
week. Use addifion and subiraction fo
find the missing values in pence.

Gum | Lolles | Total Shop A | shop8 | Total
satrday | A | 27860 | B Monday | A | 23080 | B
sunday | 22569 | C | a5sép | | [ vesday [353p | c | esem
Tot | D | ea7e3 | ss0p Total | g8505 | D | 13088p

b4

b4

8a. Use inverse calculations fo find fhe,
value of A, B and C in pence.

£51.35-B=A
6,351p +B=£9528

C-5261p=8

k4

8b. Use inverse calculations fo find the
value of A, B and C in pence.

£1242+A=8B
£29.08 + B =6,721p

B-C=£11.34

h:d

9a. Spot the odd one out.

9b. Spot the odd one out.
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Add and Subfract Integers

4. Complele the part whole models below.

178,479

498,063

v

5. Using the two numbers in the place value char, complete the calculations below.
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6. Last year, a Chrisimas hree farm started the season with 743,206 frees. The lable
below shows how many were sold in the run up o Chrisimas. How many were lefi at
the end of the season?

Month Trees sold &
November 338,128
December 404,926
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